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* Image stitching



Cartesian coordinate system
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Euclidean vs. Homogeneous Coordinates

7 Euclidean (Cartesian) to Homogeneous Coordinates
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Euclidean vs. Homogeneous Coordinates
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Points at infinity

7 Say you are given a homogeneous point
6 (64,2)

5 How do represent it in Cartesian

4 coordinates?
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Points at infinity

7 Say you are given a homogeneous point

6 (64,2)

5 How do represent it in Cartesian

4 coordinates? Ans: (3,2)
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5 Say you are given a homogeneous point
(6,4,0)
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Points at infinity

7 Say you are given a homogeneous point
6 (64,2)

5 How do represent it in Cartesian
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Points at infinity
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7 Say you are given a homogeneous point
6 7 (642)
5 / How do represent it in Cartesian
4 &cﬂ‘ coordinates? Ans: (3,2)
3 N
5 Say you are given a homogeneous point
e (6:4,0)

1
0 How do represent it in Cartesian

/ coordinates? Ans: direction (6,4)
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8 9 (
This is not a Cartesian point.

Rather it denotes a direction
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Points at infinity

Casel
7 Say you are given a homogeneous point
6 7 (642)
5 / How do represent it in Cartesian
4 /(,gi(‘ coordinates? Ans: (3,2)
3 N Case 2
5 / Say you are given a homogeneous point
: / (6,4,0)
0 // How do represent it in Cartesian
coordinates? Ans: direction (6,4)

0 1.2 3 4 5 6 7 8 9 (
This is not a Cartesian point.

Rather it denotes a direction
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Line equations in homogeneous coordinates
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Equation of a line

V4
/,/

ax + by +c=0

(x 2y y'2) | . //./"
(X]J :yl) —— ’ A+ o2 JTC= D V
‘ ! '} {Y ?—> } f 7:) + C {f'} \\, yd
H asnEEUR V
5‘ 2 ) Al ’ {0\ ) \ p
R 'K,‘ !k//”’,“ L\_ 1 l 7/ 0 { l, /'} A f /‘, . (; — (/\ ><
o af
- - o — ) _
0 1 2 3 6 7 8 fv“}sz_‘ [.o ‘]p’
L | e l g | = ?// c I\
\ | { { — K
: L | Vv | ;
YA v L) Uy ﬁ_l

Faisal Qureshi- CSCl 3240U b 11



Line equations in homogeneous coordinates

O = N W &~ v o
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Equation of a line
ax +by+c=0
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The line passing through two points ‘
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The point of intersection of two lines
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